1./58

EFETHETRAOR
FRERERAOGIEAZEHZED) EFEQZ?’-I ﬂzzﬁ 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 295 366 411 777
EARI1TH 1,043 1,215 1,300 2,515
EARI2TH 1,212 1,106 1,435 2,541
A R ET 2,265 2,383 2,627 5,010
BEBRT1TH 514 529 596 1,125
B EET2T H 413 427 485 912
B ERI3TH 329 384 357 741
BEBRT4TH 523 502 530 1,032
B ERSTH 833 927 948 1,875
I ER6TH 365 395 425 820
HiF = HT 526 616 658 1,274
45 KHT 458 539 538 1,077
HHT 997 1,156 1,260 2,416
BEHT 60 61 66 127
A K BT 627 751 763 1514
7 HT 432 455 462 917
RICET 476 518 558 1,076
FORHET 200 215 233 448
RFHT 213 225 250 475
KHET 374 354 408 762
KET1TH 232 270 295 565
XKET3TH 283 337 325 662
XETATH 867 833 1,030 1,863
fit] LLI BT 2,334 2,781 2,892 5,673
JE LT 954 1,125 1,238 2,363
EHERT2TH 297 446 441 887
EHERISTH 422 547 555 1,102
EHERT4TH 355 427 471 898
EHERSTH 325 381 459 840
EHERT6TH 215 284 260 544
EHERT7TH 159 235 236 471
=Y:i 329 360 412 772
8 [F T 1,563 1,487 1,742 3,229
=i ET 494 544 617 1,161
2l 3t BT 473 624 589 1,213
N =15 102 119 129 248
+HEFRT A 653 673 730 1,403
L EFHTER 834 757 839 1,596
L HAET 2,068 2,335 2,482 4817
LFH¥ABT1TH 74 123 122 245
LH¥\ET2TH 160 166 192 358




BT 4 HH 5 £ i
LFEI3TH 148 149 174 323
LF#ET4TH 158 168 204 372
LHABTS T B 205 276 289 565
I == HT 214 221 250 471
JOSFET1TH 523 524 571 1,095
Mn=rET2TH 554 557 568 1,125
JO=fET3TH 424 439 412 851
M=rET4T H 1,117 1,149 1,186 2,335
I S5k T 585 613 680 1,293
I=F5di) 238 244 270 514
Jt B BT 30 39 40 79
Jt ET 415 388 384 772
478 = HT 781 919 985 1,904
FHRHET 76 90 99 189
1 2 FF T 367 424 476 900
BEFE1TH 86 107 116 223
BEFE2TH 270 326 339 665
T EHT 129 152 151 303
/A BB T 3,040 3,186 3,415 6,601
1R T 263 298 320 618
YEZF HT 733 753 806 1,559
EXBI1TH 257 252 265 517
=/ LLIHT 239 176 136 312
Hh ek HT 29 30 5 35
T A EHET 10 12 10 22
TAHHEB1TH 690 692 723 1,415
TAHHEB2TH 525 597 567 1,164
THMHEB3TH 731 725 842 1,567
TEHE1TH 197 197 187 384
TEHRI2TH 807 785 894 1,679
T¥HEI3TH 162 177 180 357
TEHRI4ATH 82 83 95 178
TEEI5TH 234 244 265 509
THAHET 644 700 725 1,425
THABRT1TH 333 353 363 716
THAERT2TH 446 461 478 939
TH¥BISTH 195 204 237 441
TH¥ABRT4TH 144 142 171 313
HTAEHET 20 19 8 27
T 192 189 198 387
#8)11 BT 43 47 55 102
KT HT 302 325 359 684

e K HT 1,720 1,818 1,981 3,799
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HEZ HH 5 £ i
FSIED 258 330 321 651
XLAT1TH 866 860 1,028 1,888
XLAT2T B 305 345 364 709
X#ILET3TH 151 164 169 333
1 [ BT 49 67 80 147
hHET1TH 334 363 417 780
hHET2TH 446 488 536 1,024
hHEI3TH 453 549 544 1,093
niEld:) 253 252 285 537
th 2 JEHT 234 226 264 490
ch T 128 131 172 303
FRAHT 742 883 892 1,775
At A ET 869 918 1,064 1,982
75 K ERET 781 1,010 1,046 2,056
75 2 [N HET 1,644 1,865 2,005 3,870
A 785 784 878 1,662
SFHEAT1TH 527 483 536 1,019
SFHEAT2TH 418 398 466 864
$FHEAI3TH 209 230 236 466
i BT 417 487 504 991
YHET1T B 366 459 488 947
HET3T B 339 379 414 793
RET4T B 120 114 145 259
J\ & T 978 1,109 1,157 2,266
J\HHT 168 224 232 456
T 4 BT 275 335 366 701
AR 2,402 2,577 2,721 5,298
THAR1TH 22 25 20 45
THAR2TH 1,403 1,370 1,380 2,750
TAR3TH 182 174 178 352
THR4TH 371 312 387 699
TARS5TH 938 701 973 1,674
THRI7TH 328 379 427 806
T4HBISTH 372 419 430 849
THRBOTH 392 468 529 997
T4B13TH 305 353 391 744
AR NBHT 1,900 1,724 1,980 3,704
HARRHET 1,277 1,230 1,242 2,472
HEARK/ERET 284 379 396 775
HEARICEHT 159 169 185 354
HARKEHET 139 131 139 270
Z AR hHET 205 236 273 509
N 434 466 503 969
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HEZ HH 5 = 5
H AR EHT 322 363 403 766
HARE)IIET 284 276 305 581
HARE AH 116 130 140 270
FHARTTH] 93 92 112 204
EARERHE 659 564 637 1,201
B K BRHET 378 411 405 816
R4 EHT 880 915 1,020 1,935
BIFERI1TH 758 756 782 1,538
BEFET2 T H 596 625 709 1,334
BEFETSTH 341 410 405 815
AIFTET1T B 421 395 447 842
AIFTET2T B 571 608 670 1,278
AIFTET3T B 590 709 737 1,446
A HT 188 215 205 420
B LH 201 267 286 553
NEL] 814 840 919 1,759
ERL 703 907 904 1,811
= HHT 1,708 1,977 2,092 4,069
HEXHRET1TH 563 648 672 1,320
HLIRET2TH 517 622 654 1,276
HLAREISTH 298 395 385 780
fx T 325 390 416 806
mERI1TH 1,180 1,147 1,323 2,470
mERI2TH 835 964 1,082 2,046
FA T 1,334 1,440 1,623 3,063
= RITET 513 506 554 1,060
= AHT 363 304 362 666
AR#HT 11 10 5 15
=) 491 583 546 1,129
SHA1TH 717 668 844 1512
S HHET2TH 402 440 473 913
S HAI3TH 857 785 953 1,738
S HET4TH 790 697 905 1,602
E& T 2 2 0 2
J\BRET1TH 203 276 268 544
J\BRET2T B 253 265 244 509
J\BRET3T H 239 296 294 590
1T HT 290 447 429 876
FHEIBRT1 TH 143 169 184 353
FHaEIRT2TH 301 437 472 909
FIaIET3T B 11 26 17 43
ENDER1TH 0 0 0 0
EDER2TH 0 0 0 0
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